L 1 11 1110 I I A 11
| 5 8 3
S ) 7oL
© S 58 8
0 0 — w ¥ v
@ . - - 0 o
n . 5
o i = I T
A ~ + + +
Yo} 7 )
faV) ol
3 1 ©
C’O —] i
o il s o % 38 o &
= = I Y A
= =2 = = =
n © ~ © © ©
5 o - @ o ¥ ®
N 1o
7 Il
1 boee o dwrr e e 1 e 9 I
™ < To) © © — Il
| | | | s« >
s & =2 g ¢ x " & E
2 2 = 5]
n [cH 4 = Z
(A93 s zwd)/suojoyd
L 111 S |1 O |10 O 1 N RRRRNLRRRRRRRRNRRRR
% — - —
3
r: o .
— - *Hi —
E 12 o
g ] - N ] i
E R I B
[=T1] - n -
& .
— E\D - —
1 8 [
) —t
— _ c » .
N 25
= -
o
— ﬁ — —
& 10 - .
ﬂ-l — - -
i — = -
™ ] n -
(o))
511 e e o 1 ot =TI RRERARRET] ARTINNRY
T " e T e
o o o o
- — — — srenpisay

(A s)/s3uno)

X2req = 0.528

1.00

Energy/keV

0.10



